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7 S-PLUSODOO0ODDOO0

#0 00000

nrtf <- function(R, Fx1,opyl){

nrt <<- R[1:36, ] + Fx1[1:36, ] + R[1:36, ] * Fx1[1:36, ]

Fx <<- Fx1[1l:36, ]

opy <<-opyl[1l:36, ]

avenr <<- apply(nrt, 2, mean)

avefx <<- apply(Fx, 2, mean)

aveF <<- apply(Fpl[1l:36, ], 2, mean) # using 3years observe data
aveopy <<- apply(opyl, 2, mean)

3

#10000000O

define <- function(){

#10000000 -------=======-=-—-———-
nohedge <<- function(nrt, avenr, rmin){
n <- nrow(nrt)

p <- ncol(nrt)

Period <- Set()
Asset <- Set()
t <- Element(set = Period)
i <- Element(set = Asset)

nr <- Parameter(nrt, index = dprod(t, i), changeable=T)
nrBar <- Parameter(list(l:p, avenr), index=i, changeable=T)
X <- Variable(index = i)

y <- Variable(index = t)

Pr <- Variable() # Portfolio Return

Sum((nr[t, i] -nrBar[i]) * x[i], i) ==y[t]

Sum(nrBar[i]* x[i], i) == rmin
Sum(x[i], i) ==
x[i]>=0

Sum(nrBar([i]* x[i], i)==Pr

V <- Objective( minimize )
V" (1/36) * Sum( y[t]l*y[t], ©)
}



#0 0000000 —------------mmmmmmmm -

fhedge <<- function(nrt, avenr, Fx, avefx, aveF,rmin){
n <- nrow(nrt)

p <- ncol(nrt)

Period <- Set()
Asset <- Set()
t <- Element(set = Period)
1 <- Element(set = Asset)

nr <- Parameter(nrt, index = dprod(t, i))
nrBar <- Parameter(list(l:p,avenr), index=i)
fr <- Parameter(Fx, index = dprod(t, i))
frBar <- Parameter(list(l:p,avefx), index=i)
fpBar<- Parameter(list(l:p,aveF), index = i)

X <- Variable(index = i)

y <- Variable(index = t)

z <- Variable(index=i)

V <- Objective( minimize )

V" (1/36) * Sum(y[t]l*y[t], ©

Sum( nrBar[i] * x[i] + ( fpBar[i] - frBar[i] ) * z[i], i ) == rmin

Sum(( nr[t, i] - nrBar[i]) * x[i] + (frBar[i] - fr([t, il])*z[i] , i ) == y[t]
Sum(x[i], i) == 1

x[i] >= z[i] >= 0

x[i] >= 0

3

#10000000000 ------=======--—-

ohedge <<- function(nrt, avenr, opy, aveopy, fxret, opr, rmin){
n <- nrow(nrt)

p <- ncol(nrt)

Period <- Set()
Asset <- Set()
t <- Element(set Period)
i <- Element(set = Asset)

nr <- Parameter(nrt, index = dprod(t, i))
nrBar <- Parameter(list(l:p, avenr), index=i)
or <- Parameter(opy,index = dprod(t,i))

orBar <- Parameter(list(l:p,aveopy), index=i)



fret <- Parameter(list(l:p, fxret[1,]), index=i)
op <- Parameter(list(1l:p, opr[1,]), index=i)

X <- Variable(index = i)
z <- Variable(index=i)
y <- Variable(index = t)

Sum((nr[t, i] -nrBar[i]) * x[i] + C(or[t, i] - orBar[i] ) * z[i], i) ==y[t]
Sum(nrBar[i] * x[i] + orBar[i] * z[i], i) == rmin
Sum(x[i]+z[i], 1) ==
x[i] >= 0
(x[i] * op[il) / fret[i] >= z[i] >= 0

V <- Objective( minimize )
V" (1/36) * Sum(y[t] * y[t], ©)
3

3

#000000

eff <-function(){
new.model O

k <-1
rxl <<- cQ
x1 <- cO

s <- (max(avenr)-min(avenr))/20
rmin <- seq(from=min(avenr), to=max(avenr), length=25)
#0 00000000000 -----========----
for(j in rmin){
sys.nohedge. fc <- System(model=nohedge, nrt,avenr, j)
sol.nohedge.fc <- solve(sys.nohedge.fc)
x1[k] <- as.array(current(sys.nohedge.fc, V))
k <- k+1
3
rxl <<- x1
x1[1:which(xl==min(x1))-1] <- NA
plot(sqrt(x1), rmin, type="1", lwd=3 ,xlab="sdv", ylab="return",
o0oad x1lim=c(0.025, 0.05),ylim=c(0,0.03))

#0 00000000000 ————=—==—==—===
new.model )

k <-1
rx2 <<- cQ
x2 <- cQ

for(j in rmin){



sys.fhedge. fc <- System(model=fhedge, nrt,avenr, Fx, avefx, aveF, j)
sol. fhedge.fc <- solve(sys.fhedge. fc)
x2[k] <- as.array(current(sys.fhedge.fc, V))
k <- k+1
3
rx2 <<- Xx2
x2[1:which(x2==min(x2))-1] <- NA
lines(sqrt(x2), rmin, lty=2,lwd=3)

#000000000000000 -----=------
new.model ()
k <-1
rx3 <<- cQ)
x3 <- cQ
for(j in rmin){
sys.ohedge.fc <- System(model=ohedge, nrt,avenr, opy, aveopy, fxret, opr, j)
sol.ohedge. fc <- solve(sys.ohedge. fc)
x3[k] <- as.array(current(sys.ohedge.fc, V))
k <- k+1
3

rx3 <<- x3
x3[1:which(x3==min(x3))-1] <- NA
lines(sqrt(x3), rmin, lty=3,lwd=3)
3

#000000

test <- function(R, Fx1,Fpl,opyl,rmin){
Erl <- cQ

Er2 <- cQO

Er3 <- cQ

for(i in 0:11){

nrt <- R[(1+i):(36+i), 1 + FxI1[(1+i):(36+i),] + R[(1+i):(36+i), 1 * Fx1[(1+i):(36+1), ]
Fx <- Fx1[(1+1i):(36+1), ]

Fp <- Fpl[(1+i):(36+1), ]

opy <-opyl[(1+i):(36+1), ]

Rr <- R[(@37+i), ] + Fx1[(37+1), ] + R[(37+1), ] * Fx1[(37+1), ]
RF <- Fpl[(37+i), ]

Rfx <- Fx1[(37+1), ]

Ropy <- opyl[(37+i), ]

avenr <- apply(nrt, 2, mean)
avefx <- apply(Fx, 2, mean)



aveF <- apply(Fp, 2, mean)
aveopy <- apply(opyl, 2, mean)

#0 00000000000 --------======--—-
sys.nohedge. fc <- System(model=nohedge, nrt,avenr, j)
sol.nohedge.fc <- solve(sys.nohedge.fc)

X <- as.array(current(sys.nohedg.fc, x))

Er1[i+1] <- Rr%*%t(X)

#0 00000000000 --------=-=-==----

new.model ()

sys.fhedge.fc <- System(model=fhedge, nrt, avenr, Fx, avefx, aveF,rmin)
sol.fhedge.fc <- solve(sys.fhedge. fc)

X <- as.array(current(sys.fhedge.fc, x))

Z <- as.array(current(sys.fhedge.fc, z))

Er2[i+1] <- Rr%*%t(X)+(RF-REfx)%*%t(Z)

#000000000000000 -------=====—---
new.model ()

sys.ohedge. fc <- System(model=ohedge, nrt, avenr, opy, aveopy, fxret, opr, rmin)
sol.ohedge.fc <- solve(sys.ohedge.fc)

X <- as.array(current(sys.ohedge.fc, x))

Z <- as.array(current(sys.ohedge.fc, z))
Er3[i+1] <- Rr%*%t(X)+Ropy%*%t(Z)

3

ax <- c(1:12)

plot(ax,Erl, type="1")

lines(ax,Er2)

lines(ax,Er3)

sm <- c()

ss <- cQ)

Er <- cbind(Erl,Er2,Er3)

for(i in 1:3){

sm[i]l<-mean(Er[,i])

ss[i]<-sqrt(var(Er[,i]))

3

sumarry <<- cbind(sm,ss)

}



